TEC FC BENZAT I 2—)U (20235EiR XREE2BREDTE) BEOYE/BER 023

Fmmal A X 2k 2 £ = K or K or T =|@18[=> 4900 B
900 154
10:00 = K or K +  =|®82E|= 6000 M
11:00 Pres
12:00 =2 K or K or I =|8B1E|= 4,900 B
13:00 31-245?3
2F4% |=> K or K + X =|®2@|> 6,000 B
14:00
15:00 51°46E§¢~$ =2 7K + K + T =|83@|= 7,900 B
16:00
17:00 RRrTSid 1o 2EE = 3% |5 K or A or £ =|@1B|=> 4900 B
1800 455
o 4505 31.8‘;?'“95 51'86E§N$ - =2 Ko Ko s+ X =380 | 6000 M
20:00 6FE|=2 Ko K +F + T =| 8@ |> 7900 B
21:00

[Z55F]|>[ 1~cBL—EEE. TORCARIEIRERECSNTE |

XEFCRBRERDFIETT, FEEOSEHOTSIY REICKD, FENDHNED, EREBR>EDITDITREMEDDHDET.
XERORBIE2OFCESLSNEFESNIIFEUEOBRFOHSNITERELEDET . ABICK>TIIIDSRAETITEMEDNDDET,
XERNRBEAE TE (EAUBNFER] KE - E (PR Y18 - RUBINER - BRUN-Y 1 FE] KRB (BFELSOO#E]
X2024FEN'S2FEMUEDTSIE2EMU EDOEBERESETVEEZLSFIETT, (B1OGERFT



